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5LVD�$ULHVWD�'HZL����������6WUDWHJL�)XQGUDLVLQJ GDODP�0HQLQJNDWNDQ -XPODK
0X]DNL�GL�%$=1$6�.RWD 0DGLXQ��3URJUDP�6WXGL�(NRQRPL�6\DULDK
)DNXOWDV�$JDPD�,VODP�8QLYHUVLWDV�6LOLZDQJL�

%DGDQ�$PLO�=DNDW�1DVLRQDO��%$=1$6� PHUXSDNDQ�OHPEDJD�\DQJ�GLEHQWXN�
ROHK�SHPHULQWDK�\DQJ�PHPLOLNL�WXJDV�XQWXN�PHQJKLSXQ�GDQ�PHQ\DOXUDNDQ�]DNDW��
LQIDN�� GDQ� VHGHNDK�� 6HWLDS� OHPEDJD� SHQJHOROD� ]DNDW� GDODP� PHQJKLPSXQ� GDQD�
PHPHUOXNDQ� VWUDWHJL� 6WUDWHJL� DGDODK� XSD\D� GDQ� XVDKD� \DQJ� GLJXQDNDQ� XQWXN�
PHQFDSDL� WXMXDQ� \DQJ� WHODK� GLWHQWXNDQ�� /HPEDJD� SHQJHOROD� ]DNDW� PHPHUOXNDQ�
VWUDWHJL�\DQJ�HIHNWLI�DJDU�VHOXUXK�SRWHQVL�]DNDW�GDSDW� WHUKLPSXQ�VHFDUD�PDNVLPDO��
'L� .RWD� 0DGLXQ�� NHVDGDUDQ� GDQ� SHPDKDPDQ� PDV\DUDNDW� WHQWDQJ� ]DNDW� PDVLK�
NXUDQJ�� GLWDPEDK� MXJD� DGDQ\D� IHQRPHQD� XPXP� EDKZD� PDV\DUDNDW� FHQGHUXQJ�
PHQXQDLNDQ� ]DNDWQ\D� VHFDUD� ODQJVXQJ� NHSDGD� PXVWDKLN�� 0HVNLSXQ� EHJLWX�
%$=1$6�.RWD�0DGLXQ GDODP�PHQJKLPSXQ�GDQD�VHODOX�PHQJDODPL�SHQLQJNDWDQ�
6HKLQJJD�WXMXDQ�GDUL�SHQHOLWLDQ�LQL�DGDODK�XQWXN�PHQJHWDKXL� VWUDWHJL� IXQGUDLVLQJ
\DQJ�GLJXQDNDQ�ROHK�%$=1$6�.RWD�0DGLXQ�XQWXN�PHQLQJNDWNDQ�MXPODK�PX]DNL��

0HWRGH� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� PHWRGH� GHVNULSWLI
NXDOLWDWLI�� 7HNQLN� SHQJXPSXODQ� GDWD� GDODP� SHQHOLWLDQ� LQL� GLODNXNDQ� PHODOXL�
REVHUYDVL�� ZDZDQFDUD�� GDQ� GRNXPHQWDVL�� 7HNQLN� DQDOLVLV� GDWD� \DQJ� GLJXQDNDQ�
DGDODK�UHGXNVL�GDWD��SHQ\DMLDQ�GDWD��GDQ�SHQDULNDQ�NHVLPSXODQ�

+DVLO� GDUL� SHQHOLWLDQ� LQL� GLNHWDKXL� EDKZD %$=1$6� .RWD� 0DGLXQ
PHODNXNDQ�VWUDWHJL� IXQGUDLVLQJ GHQJDQ���PHWRGH� IXQGUDLVLQJ \DLWX�\DQJ�SHUWDPD�
SHQJKLPSXQDQ� GDQD� VHFDUD� ODQJVXQJ� �GLUHFW� IXQGUDLVLQJ�� \DQJ� PHOLSXWL� VLDUDQ�
UDGLR��SHUWHPXDQ�ODQJVXQJ��GDQ�NDOHQJ�6����6HGHNDK�6HGLQR�6HZX���0HWRGH�\DQJ�
NHGXD�\DLWX�VWUDWHJL�IXQGUDLVLQJ VHFDUD�WLGDN�ODQJVXQJ��LQGLUHFW�IXQGUDLVLQJ��\DQJ�
PHOLSXWL� HYHQW�GDQ�PHODOXL� SHUDQWDUD� VHSHUWL�PHGLD� FHWDN��ZHEVLWH��PHGLD� VRVLDO��
NDQWRU� GLJLWDO� 83=�� PHQMDOLQ� NHPLWUDDQ�NHUMDVDPD�� YLD� UHNHQLQJ�� GDQ� OD\DQDQ�
MHPSXW�]DNDW��$GDSXQ�VWUDWHJL�SHQJKLPSXQDQ�GDQD�\DQJ�HIHNWLI�GL�%$=1$6�.RWD�
0DGLXQ� \DLWX� SHQJKLPSXQDQ� GDQD� VHFDUD� WLGDN� ODQJVXQJ� �LQGLUHFW� IXQGUDLVLQJ��
NDUHQD� GDSDW� PHLQJNDWNDQ� MXPODK� PX]DNL� \DNQL� ���� PX]DNL�� 2OHK� NDUHQD� LWX��
GHQJDQ� DGDQ\D� VWUDWHJL� LQL� WHQWXQ\D� EHUSHQJDUXK� WHUKDGDS� MXPODK� PX]DNL� GDQ�
SHUROHKDQ�GDQD�\DQJ�PHQLQJNDW�

.DWD�.XQFL��6WUDWHJL� )XQGUDLVLQJ� %$=1$6�


